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PHYSICS 
1. An athlete completes one round of a circular track of 

diameter 200 m in 40s. What will be the distance covered 
and the displacement at the end of 2minutes 20s? 

2. Joseph jogs from one end A to the other end B of a straight 
300 m road in 2 minutes 30 seconds and then turns around 
and jogs 100 m back to point C in another 1 minute .What 
are Josephs’ average speed and velocities in jogging. 

3. Abdul while driving to school computes the average speed 
for his trip to be 20 kmh-1. On his return trip along the 
same route, there is less traffic and the average speed us 
30Kmh-1. What is the average speed for Abdul’s trip? 

4. A motorboat starting from rest on a lake accelerates in a 
straight line at a constant rate of 3.0 ms-2 for 8.0s. How far 
does the boat travel during this time? 

5. Draw a diagram to show the motion of a body whose speed 
remains constant but velocity continuously changes 

6. Draw displacement –time graphs for the following 
situations. 

i) When body is stationary 
ii) When body is moving with uniform velocity 
iii) When body is moving with variable velocity.  
7. A train is moving at a speed of 40km/h at 10.00 a.m and at 

50Km/h at 10.02 Assuming that the train moves along a 

straight track and the acceleration is constant, find the 
value of the acceleration. 

8. A particle with a velocity of  2m/s at t=0 moves a straight 
line with a constant acceleration of 0.2m/s  2m/s at t=0 
moves a straight line with a constant acceleration of 
0.2m/s2. Find the displacement of the particle in 10s. 

9. A particle is pushed along a horizontal surface in such a 
way that it starts with a velocity of 12m/s. Its velocity 
decreases at a rate of 0.5 m/s2 (a) Find the time it will 
take to come to rest .(b) Find the distance covered by it 
before coming to rest. 

10. When will you say a body is in  
i) Uniform motion? 
ii) Non uniform motion?   

CHEMISTRY 

1. The most ‘abundant’ element in earth’s ceust is: 
a) Carbon    b) Phosphorus 

c)    oxygen    d) Nitrogen  

2. Which of the following is not a metal? 
a) Copper    b) Silver 

c)    Lead    d) Bismuth  

3.   The non –metal which is a liquid at room temperature is: 
a) Sulphur    b) Chlorine 

c) Iodine    d) Bromine 

4. A pure substance can be: 
a) An element only 
b) A compound only 



c) Either element or compound any substance. 
d) Any substance.  

5.  Which of the following is not a compound? 
a) Marble     b) Washing soda 

c)   Quick  lime    d) Brass.  

6.  At 0℃, the physical state of water is ∶ 
a) Solid    b) Liquid 

c)   Both solid and liquid                         (d) solid or liquid. 

7.  Carbon burns in oxygen to form carbon dioxide. The properties of 
carbon dioxide are: 
a) Similar to carbon 
b) Similar to oxygen 
c) Similar to both carbon and oxygen.  
d) Different from both carbon and oxygen. 

8.  Which set of elements is correctly matched? 
a) Metals: Sodium; sulphur 

Non-Metals: Calcium ; Iodine  
b) Metals: Sodium; Copper 

Non- matels: Phosphorus; Potassium 
c) Metals: Copper;Zinc 

Non- matals: Sulphur; Oxygen 
d) Metals: Calcium;Aluminium 
e) Non Metals: Bromine ;Zinc. 
The question given below consist of Assertion and Reason. Use 
the following key to select the correct answer: 
a) If both assertion and reason are correct  and reason is 

correct explanation for assertion. 
b) If both assertion and reason are correct but reason is not 

correct explanation for assertion.   
c)  IF assertion is correct but reason is incorrect. 
d) If assertion is incorrect but reason is correct.  

9. Assertion: Ionic solids are good conductors of electricity. 
Reason:   Ionic solids consist of cations and anions 

10. Assertion: A compound is made from same or different atoms 
combined in a fixed proportion by mass. 
Reason:   Constiuents of a compound exhibit their characteristcs. 

BIOLOGY 

1. Lactation period is maximum in 
a) Fries wall    b) Sahiwal 

c)  Holstein – Friesian    d) Karan- Swiss  

2. Which is  indigenous breeds of poultry- 
a) Aseel    b) white leghorn 

c)  Rhode island Red   d) Black Minorca  

3. Which is Exotic breed of poultry  
a) Peela    b) Yakub 

c)  Nurie    d) White leghorn. 

4. Which is cross breed of poultry 
a) Black Minorca   b) Plymouth 

c)  Assel    d) HH-260 and IBL-80  

5. Which is viral disease of poultry 
a) Fowl Pox    b) Cholera 

c)  Diarrhoea    d) All of these  

6. Milk does not provide 
a) Vitamin A and D 
b) Carbohydrates, Protein and fats 
c) Minerals such as phosphorus and calcium 



d) Iron  
7. Which of the following is a natural insecticide? 

a) Nicotene    b) Neem 

c) Pyrethrum    d) All of these 

8. Which one of following is not an exotic breed of cow? 
a) Jersey    b)  Holstein –friesion 
c)    Sahiwal    d) Brown - swiss  

9.  Which of the following is not a draught animal? 
a) Camel    b) Elephant 
c)   Sheep    d) Horse.  

10.  Broiler chicken are given- 
a) More protein   b) No protein 
c)   Less protein    d) None of these  

MATHS 

1. If x+y+z=0 then 3ቂ
௫మ

௬௭
+

௬మ

௭௫
+

௭మ

௫௬
ቃ =? 

a) (xyz)2   b) x2+y2+z2  

c)    3   d) 9 

2. If x=3+2√2 and xy = 1 then the value of 
௫మିଷ௫௬ା మ

௫మାଷ௫௬ା௬మ is 

a) 
ଷ଴

ଷଵ
   b) 

଻଴

ଷଵ
 

c) 
ଷହ

ଷଵ
    d) 

ଷଵ

ଷ଻
 

3. If x+y+z=6 then the value of  (x-1)3+(y-2)3+(z-3)3 is 
a) 3(x-1)(y+2)(z-3)  
b) 3(x+1)(y-2)(z-3)  
c) 3(x-1)(y-2)(z+3)  
d) 3(x-1)(y-2)(z-3)  

4. The degree of the polynomial 
௫రା௫ఱି௫ఴ

௫య
is 

a) 2  b)3  c)4  d)5  

5. What is the remainder when 2x2-3x+5 is divided by 2x 1 ?  
a) 2  b)3  c)4  d)5  

6. If 3x+
ଵ

ଷ௫
= 3 then the value of 27x3+

ଵ

ଶ଻ య is 

a) -52  b)52  c)18  d)-18  

7. If ቀ𝑥 +
ଵ

௫
ቁ = 4 then ቀ𝑥 −

ଵ

௫
ቁ is  

a) 2√2  b) √6  c) 2√3  d) 3√2 
8. The factorization of 4a2-4a+1 is  

a) (2a-1)(2a+1) 
b) (2a-1)(1-2a) 
c) (2a+1)(2a+1) 
d)  (2a-)(2a-1) 

9. The factors of the expression x2-
௬మ

ଵ଴଴
 is  

a) ቀ𝑥 −
௬

ଵ଴
ቁ ቀ𝑥 −

௬

ଵ଴
ቁ   

b) ቀ𝑥 +
௬

ଵ଴
ቁ ቀ𝑥 +

௬

ଵ଴
ቁ 

c) ቀ𝑦 +
௫

ଵ଴
ቁ ቀ𝑦 +

௫

ଵ଴
ቁ 

d) ቀ𝑥 +
௬

ଵ଴
ቁ ቀ𝑥 −

௬

ଵ଴
ቁ 

10. If a+b+c=12 and  a2 + b2 + c2 = 50, then the value of ab+ be+ 
ca  , is 
a)  44    b) 22                   c) 23    d) 47 

 


